# UNITED STATES SECURITIES AND EXCHANGE COMMISSION

Washington, D.C. 20549

# FORM 6-K

REPORT OF FOREIGN PRIVATE ISSUER PURSUANT TO RULE 13a-16 OR 15d-16 UNDER THE SECURITIES EXCHANGE ACT OF 1934

For the month of March, 2018 Commission File Number 1-15250

# **BANCO BRADESCO S.A.**

(Exact name of registrant as specified in its charter)

# **BANK BRADESCO**

(Translation of Registrant's name into English)

Cidade de Deus, s/n, Vila Yara 06029-900 - Osasco - SP Federative Republic of Brazil (Address of principal executive office)

Indicate by check mark whether the registrant files or will file annual reports under cover Form 20-F or Form 40-F. Form 20-F \_\_\_\_X Form 40-F \_\_\_\_\_

Indicate by check mark whether the registrant by furnishing the information contained in this Form is also thereby furnishing the information to the Commission pursuant to Rule 12g3-2(b) under the Securities Exchange Act of 1934.

Yes \_\_\_\_\_ No \_\_\_X\_\_\_\_

In February 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

(x) Controller's

Group and Family Dependants

Ope	enning Balance	
	C	% of participation
Type of Securities/Derivatives	Quantity	Same type of Shares Total
Common Shares	2,252,680,344	4 73.750036.8750
Non-Voting Shares	68,908,720	0 2.2559 1.1279
Cle	osing Balance	
		% of participation
Type of Securities/Derivatives	Quantity	Same type of Shares Total
Common Shares	2,252,680,344	4 73.750036.8750
Non-Voting Shares	68,908,720	2.2559 1.1279

Company: Banco Bra		( ) Boa	ard of			() T	echnical	and
Group and Family Dependants	(x)Board of Directors	Exect	utive	()Au Comm		• • •	sory Age	
	C	penning B	alance					
						% 0	f participa	ation
Туре	of Securities/Derivativ	es		Quan	tity		type of ares	Total
	Common Shares				838,248			0.2265
	Non-Voting Shares	Month Mov	ement	28,	818,107		0.9434	0.4717
Type of								
Securities/Derivative	Broker	Operatio	n Day	Quantity	Price	V	alue in R	\$
Non-Voting Shares		Sell	26-Feb	100	40.40	R\$	4,04	40.00
Non-Voting Shares		Sell	26-Feb	3,800	40.41	R\$	153,5	58.00
Non-Voting Shares		Sell	26-Feb	7,700	40.42	R\$	311,2	34.00
Non-Voting Shares	Bradesco S.A. C.T.V.M.	Sell	26-Feb	1,900	40.43	R\$	76,8	17.00
Non-Voting Shares		Sell	26-Feb	5,000	40.47	R\$	202,3	50.00
Non-Voting Shares		Sell	26-Feb	300	40.48	R\$	12,1	44.00
Non-Voting Shares		Sell	26-Feb	,	40.49	R\$	445,3	
Non-Voting Shares		Total Closing Ba	alance	29,800		R\$	1,205,5	33.00
		y				% 0	f participa	ation
Туре	of Securities/Derivativ	es		Quan	tity		type of ares	Total
	Common Shares			,	658,294			0.2235
	Non-Voting Shares			28,	430,123		0.9307	0.4653

Company: Bradesco Le	easing S.A. Arrenda	mento Mercantil				
Group and Family Dependants	(x)Board of Directors	() Board of Executive Officers	() Audit Committee		() Technical Advisory Age	
	Op	penning Balance				
					% of participa	ation
Type of	f Securities/Derivative	S	Quantity		Same type of Shares	Total
C	Common Shares			0	0.0000	0.0000
N	on-Voting Shares			0	0.0000	0.0000
Closing Balance						
		-			% of participa	ation
Type of	f Securities/Derivative	S	Quantity		Same type of Shares	Total
(	Common Shares			0	0.0000	0.0000
No	on-Voting Shares			0	0.0000	0.0000
Note:						

Member who left the Board of Directors: Aurélio Conrado Boni

Company: Banco Bi	radesco S.A.				
Group and Family Dependants	( )Board of Directors	(X) Board o Executive Officers	() ()		() Technical and Advisory Agencies
		Openning Balan	се		
					% of participation
Тур	e of Securities/Deriva	lives	Qua	ntity	Same type of Shares Total
	Common Shares		-	72,516	0.00230.0011
	Non-Voting Shares	Month Moveme		8,055,458	0.10000.0500
Type of					
Securities/Derivativ	ves Broker	Operation Da	ay Quantity	Price	Value in R\$
					R\$
Non-Voting Shares		Sell 14-	Feb 9,177	7 37.70	345,972.90
Non-Voting Shares		Sell 14-	Feb 3,600	) 37.71	R\$ 135,756.00
			,		R\$
Non-Voting Shares		Sell 14-	Feb 1,800	) 37.72	67,896.00 R\$
Non-Voting Shares		Sell 14-	Feb 2,100	37.73	79,233.00
Non-Voting Shares		Sell 20-	Feb 18,400	) 39.30	R\$ 723,120.00
Non Voting Chares			10,400	00.00	R\$
Non-Voting Shares		Sell 20-	Feb 2,833	3 39.31	111,365.23 R\$
Non-Voting Shares		Sell 8-F	- eb 13,300	) 38.49	مە 511,917.00
				00.50	R\$
Non-Voting Shares		Sell 8-F	-eb 48	38.50	1,848.00 R\$
Non-Voting Shares		Sell 14-	Feb 2,530	37.60	95,128.00 R\$
Non-Voting Shares		Sell 14-	Feb 400	) 37.61	15,044.00
Non-Voting Shares		Sell 14-	Feb 400	) 37.66	R\$ 15,064.00
Non-Voting Shares			Feb 400	, 07.00	10,001.00

			15,609	39.00	R\$ 608,751.00
					R\$
Non-Voting Shares	Sell	21-Feb	2,000	40.00	80,000.00 R\$
Non-Voting Shares	Sell	21-Feb	1,000	40.25	40,250.00 R\$
Non-Voting Shares	Sell	14-Feb	8,900	38.00	338,200.00
Non-Voting Shares	Sell	20-Feb	8	39.40	R\$ 315.20 R\$
Non-Voting Shares	Sell	20-Feb	8,000	39.55	316,400.00 R\$
Non-Voting Shares	Sell	21-Feb	9,127	40.25	367,361.75 R\$
Non-Voting Shares	Sell	15-Feb	9,840	39.00	383,760.00 R\$
Non-Voting Shares	Sell	14-Feb	2,400	37.89	90,936.00 R\$
Non-Voting Shares	Sell	14-Feb	5,800	37.90	219,820.00 R\$
Non-Voting Shares	Sell	15-Feb	5,579	39.00	217,581.00 R\$
Non-Voting Shares	Sell	14-Feb	1,600	38.00	60,800.00 R\$
Non-Voting Shares	Sell	20-Feb	1,743	39.40	68,674.20 R\$
Non-Voting Shares	Sell	23-Feb	95	40.00	3,800.00 R\$
Non-Voting Shares	Sell	23-Feb	2,000	40.01	80,020.00 R\$
Non-Voting Shares	Sell	23-Feb	2,400	40.02	96,048.00 R\$
Non-Voting Shares	Sell	20-Feb	5,902	39.32	232,066.64 R\$
Non-Voting Shares	Sell	20-Feb	1,000	39.34	39,340.00 R\$
Non-Voting Shares	Sell	8-Feb	10	37.80	378.00 R\$
Non-Voting Shares	Sell	8-Feb	5,500	37.81	207,955.00 R\$
Non-Voting Shares	Sell	8-Feb	500	37.82	18,910.00 R\$
Non-Voting Shares	Sell	14-Feb	1,500	37.95	56,925.00 R\$
Non-Voting Shares	Sell	21-Feb	2,499	40.28	100,659.72 R\$
Non-Voting Shares	Sell	21-Feb	2,600	40.29	104,754.00 R\$
Non-Voting Shares Non-Voting Shares	Sell Sell	21-Feb 21-Feb	1,300	40.30	52,390.00

	5 5				
			500	40.31	R\$ 20,155.00
Non-Voting Shares	Sell	8-Feb	68	38.42	R\$ 2,612.56 R\$
Non-Voting Shares	Sell	8-Feb	4,402	38.43	169,168.86 R\$
Non-Voting Shares	Sell	8-Feb	1,300	38.44	49,972.00 R\$
Non-Voting Shares	Sell	14-Feb	440	37.67	16,574.80 R\$
Non-Voting Shares	Sell	14-Feb	1,000	37.69	37,690.00 R\$
Non-Voting Shares	Sell	15-Feb	517	38.66	19,987.22 R\$
Non-Voting Shares	Sell	14-Feb	15	38.33	574.95 R\$
Non-Voting Shares	Sell	14-Feb	5,700	38.35	218,595.00 R\$
Non-Voting Shares	Sell	15-Feb	83	38.82	3,222.06 R\$
Non-Voting Shares	Sell	15-Feb	1,100	38.91	42,801.00 R\$
Non-Voting Shares	Sell	8-Feb	500	38.78	19,390.00 R\$
Non-Voting Shares	Sell	20-Feb	6,625	39.35	260,693.75 R\$
Non-Voting Shares	Sell	8-Feb	1,400	37.71	52,794.00 R\$
Non-Voting Shares	Sell	8-Feb	1,200	37.72	45,264.00 R\$
Non-Voting Shares	Sell	8-Feb	1,400	37.73	52,822.00 R\$
Non-Voting Shares	Sell	8-Feb	7	38.52	269.64 R\$
Non-Voting Shares	Sell	8-Feb	1,400	38.56	53,984.00 R\$
Non-Voting Shares	Sell	8-Feb	1,600	38.57	61,712.00 R\$
Non-Voting Shares	Sell	14-Feb	30	37.67	1,130.10 R\$
Non-Voting Shares	Sell	14-Feb	22	37.68	828.96 R\$
Non-Voting Shares	Sell	14-Feb	300	37.72	11,316.00 R\$
Non-Voting Shares	Sell	14-Feb	400	37.73	15,092.00 R\$
Non-Voting Shares	Sell	16-Feb	10	38.63	386.30 R\$
Non-Voting Shares Non-Voting Shares	Sell Sell	16-Feb 8-Feb	500	38.66	19,330.00

	5 5				
			500	37.70	R\$ 18,850.00
Non-Voting Shares	Sell	26-Feb	4,000	40.45	R\$ 161,800.00 ₽¢
Non-Voting Shares	Sell	14-Feb	2,000	37.99	R\$ 75,980.00 R\$
Non-Voting Shares	Sell	15-Feb	1,000	39.07	39,070.00 R\$
Non-Voting Shares	Sell	21-Feb	1,363	40.00	54,520.00 R\$
Non-Voting Shares	Sell	15-Feb	268	38.91	10,427.88 R\$
Non-Voting Shares	Sell	15-Feb	400	38.92	15,568.00 R\$
Non-Voting Shares	Sell	23-Feb	90	39.81	3,582.90 R\$
Non-Voting Shares	Sell	23-Feb	400	39.83	15,932.00 R\$
Non-Voting Shares	Sell	14-Feb	8	38.15	305.20 R\$
Non-Voting Shares	Sell	14-Feb	827	38.17	31,566.59 R\$
Non-Voting Shares	Sell	9-Feb	500	37.66	18,830.00 R\$
Non-Voting Shares	Sell	14-Feb	50	38.49	1,924.50 R\$
Non-Voting Shares	Sell	14-Feb	2	38.51	77.02 R\$
Non-Voting Shares	Sell	14-Feb	700	38.54	26,978.00 R\$
Non-Voting Shares	Sell	14-Feb	500	37.83	18,915.00 R\$
Non-Voting Shares	Sell	14-Feb	15	37.84	567.60 R\$
Non-Voting Shares	Sell	8-Feb	3,406	38.54	131,267.24 R\$
Non-Voting Shares	Sell	15-Feb	917	38.91	35,680.47 R\$
Non-Voting Shares	Sell	26-Feb	1,588	40.45	64,234.60 R\$
Non-Voting Shares	Sell	9-Feb	600	37.65	22,590.00 R\$
Non-Voting Shares	Sell	9-Feb	1,206	37.66	45,417.96 R\$
Non-Voting Shares	Sell	14-Feb	751	38.36	28,808.36 R\$
Non-Voting Shares	Sell	20-Feb	51	39.40	2,009.40 R\$
Non-Voting Shares Non-Voting Shares	Sell Sell	20-Feb 15-Feb	700	39.42	27,594.00

# Edgar Filing: BANK BRADESCO - Form 6-K

					R\$	
			22	38.88	855.36	
					R\$	
Non-Voting Shares	Sell	15-Feb	4,300	38.89	167,227.0	0
					R\$	
Non-Voting Shares	Total		208,183		8,085,384.9	92
	Closing E	Balance				
					% of participa	ation
Type of Securities/Deriva	atives		Quant	itv	Same type of	
			Quan	ity.	Shares	Total
Common Shares				72,516	0.0023	80.0011
Non-Voting Shares			2,8	47,275		20.0466

## **CONSOLIDATE FORM**

# Negociation's from Administration and Families Dependants- Paragraph 11 -Instruction CVM n.º 358/2002

Company: Banco Bradesco S.A.	<u> </u>
Group and Family Dependants () Board () Board of Of Executive Directors Officers	( ) Technical (X) Audit and Advisory Committee Agencies
Openning Balance	
	% of
	participation
Type of Securities/Derivatives	Quantity Same
	type of Total
	Shares
Common Shares	2,541 0.00000.0000
Non-Voting Shares	123,217 0.00400.0020
Closing Balance	
-	% of
	participation
Type of Securities/Derivatives	Quantity Same
	type of Total
	Shares
Common Shares	2,541 0.00000.0000
Non-Voting Shares	123,217 0.00400.0020
Ū	

#### **CONSOLIDATE FORM**

#### Negociation's from Administration and Families Dependants- Paragraph 11 -Instruction CVM n.º 358/2002

In February 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A. () Board (x) Technical ()Board of () Audit and Advisory **Group and Family Dependants** of Executive Committee Agencies Directors Officers **Openning Balance** % of participation Type of Securities/Derivatives Quantity Same type of Total Shares **Common Shares** 0 0.00000.0000 **Non-Voting Shares** 0 0.0000.0000 **Closing Balance** % of participation Type of Securities/Derivatives Quantity Same type of Total Shares **Common Shares** 0 0.0000.0000 **Non-Voting Shares** 0 0.0000.0000

# CONSOLIDATE FORM

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM $n.^{\circ}$ 358/2002

Company: Banco Bradesco S.A.		
	Banco CPF/CNP	J:
Name:	Bradesco S.A. 60.746.94	8/0001-12
Qualification: Treasury		
Openning	Balance	
	9	% of participation
Type of Securities/Derivatives	Quantity Come	turne of Oberroe Total
	Same	type of Shares Total
Common Shares	5,032,549	0.16470.0823
Non-Voting Shares	18,855,746	0.61730.3086
Closing I	Balance	
	9	6 of participation
Type of Securities/Derivatives	Quantity Same	type of Shares Total
Common Shares	5,032,549	0.16470.0823
Non-Voting Shares	18,855,746	0.61730.3086
	- , ,	

Company: Banco Bradesco S.A.			
Name:	2bCapital Participações Ltda	CPF/CNPJ: 11.814.208/000	01-60
Qualification: Controlled / Related Company	g Balance		
Openning	g Dalance	% of pa	articipation
Tune of Securities/Derivatives	Qua	•	•
Type of Securities/Derivatives	Quar	<sup>ntity</sup> Same type o	f Shares Total
Common Shares		0	0.0000.0000
Non-Voting Shares	Palanaa	0	0.00000.0000
Closing	Balance	°/ of pr	rticipation
		76 UI þá	articipation
Type of Securities/Derivatives	Quai	<sup>ntity</sup> Same type o	f Shares Total
Common Shares		0	0.00000.0000
Non-Voting Shares		0	0.00000.0000
č			

In February 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

	2bCapital	CPF/CN	PJ:
Name:	S.A	07.063.6	75/0001-29
Qualification: Controlled / Related Company			
Openning I	Balance		
		c	% of participation
Type of Securities/Derivatives	Qu	<sup>lantity</sup> Same	type of Shares Total
Common Shares		0	0.0000.0000
Non-Voting Shares		0	0.0000.0000
Closing B	alance		
		c	% of participation
Type of Securities/Derivatives	Qu	<sup>lantity</sup> Same	type of Shares Total
Common Shares		0	0.0000.0000
Non-Voting Shares		0	0.0000.0000

In February 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

## Company: Banco Bradesco S.A.

# ADC Bradesco -Associação

Name: Classista Qualification: Controlled / Related Company Openning Balance

Desportiva CPF/CNPJ: Classista 51.244.101/0001-49

0/ of portioinatio

	% of participation		
Type of Securities/Derivatives	Quantity Same ty	pe of Shares Total	
Common Shares	0	0.0000.0000	
Non-Voting Shares	0	0.0000.0000	
Closing Balance			
	% of participation		
Type of Securities/Derivatives	Quantity Same ty	pe of Shares Total	
Common Shares	0	0.0000.0000	
Non-Voting Shares	0	0.00000.0000	

In February 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

#### Company: Banco Bradesco S.A.

Name:

Ágora Corretora de Títulos e Valores CPF/CNPJ: Mobiliários S.A 74.014.747/0001-35

Qualification: Controlled / Related Company

#### **Openning Balance**

	% of participation		
Type of Securities/Derivatives	Quantity Same ty	pe of Shares Total	
Common Shares	0	0.0000.0000	
Non-Voting Shares	0	0.0000.0000	
Closing Balance			
	%	of participation	
Type of Securities/Derivatives	Quantity Same ty	vpe of Shares Total	
Common Shares	0	0.0000.0000	
Non-Voting Shares	0	0.00000.0000	

In February 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A.

	Ágora		
	Educacional	CPF/CN	IPJ:
Name:	Ltda	09.544.1	24/0001-02
Qualification: Controlled / Related Company			
Opennin	g Balance		
	-	0	% of participation
Type of Securities/Derivatives	Qua	<sup>antity</sup> Same	type of Shares Total
Common Shares		0	0.00000.0000
Non-Voting Shares		0	0.0000.0000
Closing	Balance		
		0	% of participation
Type of Securities/Derivatives	Qua	<sup>antity</sup> Same	type of Shares Total
Common Shares		0	0.0000.0000
Non-Voting Shares		0	0.0000.0000

,

In February 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

	Aicaré			
	Holdings	(	CPF/CNPJ:	
Name:	Ltda	09.23	35.141/0001-68	
Qualification: Controlled / Related Company				
Openning I	Balance			
		%	of participation	
Type of Securities/Derivatives	Qua	antity Same ty	pe of Shares Total	
Common Shares		0	0.0000.0000	
Non-Voting Shares	0 0.0000.0		0.0000.0000	
Closing Balance				
		%	of participation	
Type of Securities/Derivatives	Qua	antity Same ty	pe of Shares Total	
Common Shares		0	0.0000.0000	
Non-Voting Shares		0	0.0000.0000	

In February 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company. Banco Bradesco S.A.		
	Alvorada	
	Administradora de	CPF/CNPJ:
Name:	Cartões Ltda	01.382.421/0001-97
	Carloes Llua	01.362.421/0001-97
Qualification: Controlled / Related Company		
Openning	g Balance	
		% of participation
Type of Securities/Derivatives	Quantity	
Type of Occurrics/Derivatives	Quantity	Same type of Shares Total
Common Shares	0	0.0000.0000
Non-Voting Shares	0	0.0000.0000
0	Balance	
0.00g		% of participation
Type of Securities/Derivatives	Quantity	
		Same type of Shares Total
Common Shares	0	0.0000.0000
Non-Voting Shares	0	0.0000.0000
5		

Company: Banco Bradesco S.A.		
Name: Qualification: Controlled / Related Company	Alvorada Companhia Securitizadora de Créditos Financeiros	CPF/CNPJ: 03.572.412/0001-94
	g Balance	
•	•	% of participation
Type of Securities/Derivatives	Quantity S	Same type of Shares Total
Common Shares Non-Voting Shares Closing	0 0 Balance	0.00000.0000 0.00000.0000
		% of participation
Type of Securities/Derivatives	Quantity S	Same type of Shares Total
Common Shares Non-Voting Shares	0 0	0.00000.0000 0.00000.0000

Company: Banco Bradesco S.A.		
Name: Qualification: Controlled / Related Company	Alvorada Serviços e Negócios Ltda 5	CPF/CNPJ: 0.991.421/0001-08
Openning I	Balance	
		% of participation
Type of Securities/Derivatives	Quantity Sam	ne type of Shares Total
Common Shares	0	0.0000.0000
Non-Voting Shares	0	0.0000.0000
Closing B	alance	
		% of participation
Type of Securities/Derivatives	Quantity San	ne type of Shares Total
Common Shares	0	0.00000.0000
Non-Voting Shares	0	0.0000.0000

Amapari	CPF/CNPJ:
Holdings S.A	15.012.678/0001-61
Balance	
	% of participation
Quantity	
Guanity g	Same type of Shares Total
	0.00000.0000
-	0.00000.0000
Balance	
	% of participation
Quantity,	
	Same type of Shares Total
0	0.00000.0000
	0.00000.0000
0	0.00000.0000
	Holdings S.A Balance Quantity 0 0 Balance

In February 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

	Andorra	CPF/CNP	-	
Name:	Holdings S.A	08.503.501/00	01-00	
Qualification: Controlled / Related Company	-			
Openning E	Balance			
		% of particip	oation	
Type of Securities/Derivatives	Quantity Same type of Shares Total		ares Total	
Common Shares	0 0.00000		0000.0000	
Non-Voting Shares	0 0.000		0000.0000	
Closing Balance				
		% of participation		
Type of Securities/Derivatives	Quantity	Quantity Same type of Shares Tota		
Common Shares	0	0.0	0000.0000	
Non-Voting Shares	0	0.0	0000.0000	

In February 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

	Aporé	CPF/CNPJ:		
Name:	Holdings S.A	15.011.651/0001	-54	
Qualification: Controlled / Related Company	-			
Openning E	Balance			
		% of participation		
Type of Securities/Derivatives	Quantity	Quantity Same type of Shares Total		
Common Shares	0	0 0.00000.		
Non-Voting Shares	0 0.00000.0		000.000	
Closing Balance				
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Share	s Total	
Common Shares	0	0.000	000.000	
Non-Voting Shares	0	0.000	000.000	

In February 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

	Aquarius			
	Holdings	CPF/	CNPJ:	
Name:	Ltda	04.866.440/0001-87		
Qualification: Controlled / Related Company				
Openning	Balance			
		% of pa	articipation	
Type of Securities/Derivatives	Quant	<sup>tity</sup> Same type o	of Shares Total	
Common Shares		0	0.0000.0000	
Non-Voting Shares	0 0.0000		0.0000.0000	
Closing Balance				
_		% of pa	articipation	
Type of Securities/Derivatives	Quant	<sup>tity</sup> Same type o	of Shares Total	
Common Shares		0	0.0000.0000	
Non-Voting Shares		0	0.00000.0000	

In February 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

	Aranaú	CPF/CNF	>၂։	
Name:	Holdings S.A	15.011.846/00	001-02	
Qualification: Controlled / Related Company	·			
Öpenning E	Balance			
		% of partici	ipation	
Type of Securities/Derivatives	Quantity	Quantity Same type of Shares Tota		
Common Shares	0	0 0.00000.		
Non-Voting Shares	0		0000.0000	
Closing Balance				
		% of partici	ipation	
Type of Securities/Derivatives	Quantity	Same type of Sh	ares Total	
Common Shares	0	0.	0000.0000	
Non-Voting Shares	0	0.	0000.0000	

Company: Banco Bradesco S.A.		
Name: Qualification: Controlled / Related Company	ARFAB - Associação Recreativa dos Funcionários da Atlântica-Bradesco	CPF/CNPJ: 42.413.153/0001-00
Öpenn	ing Balance	
		% of participation
Type of Securities/Derivatives	Quantity	Same type of Shares Total
Common Shares	0	0.0000.0000
Non-Voting Shares	0	0.0000.0000
Closir	ng Balance	
		% of participation
Type of Securities/Derivatives	Quantity	Same type of Shares Total
Common Shares	0	0.0000.0000
Non-Voting Shares	0	0.00000.0000

In February 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

	Atlântica		
	Companhia de	CPF/C	NPJ:
Name:	Seguros	33.151.291	/0001-78
Qualification: Controlled / Related Company			
Openning	Balance		
		% of part	ticipation
Type of Securities/Derivatives	Quanti	<sup>ty</sup> Same type of a	Shares Total
Common Shares		0	0.00000.0000
Non-Voting Shares		0	0.0000.0000
Closing B	alance		
		% of part	ticipation
Type of Securities/Derivatives	Quanti	<sup>ty</sup> Same type of a	Shares Total
Common Shares		0	0.00000.0000
Non-Voting Shares		0	0.0000.0000

In February 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

	Baíra Holdings	(	CPF/CNPJ:
N I	•		
Name:	Ltda	10.42	29.085/0001-81
Qualification: Controlled / Related Company			
Openning	Balance		
		%	of participation
Type of Securities/Derivatives	Qua	<sup>intity</sup> Same ty	pe of Shares Total
Common Shares		0	0.0000.0000
Non-Voting Shares		0	0.00000.0000
Closing B	alance		
		%	of participation
Type of Securities/Derivatives	Qua	<sup>intity</sup> Same ty	pe of Shares Total
Common Shares		0	0.0000.0000
Non-Voting Shares		0	0.0000.0000

In February 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

	Banco	CPF/CNPJ	:
Name:	Alvorada S.A	33.870.163/000	1-84
Qualification: Controlled / Related Company			
Openning E	Balance		
		% of participa	ation
Type of Securities/Derivatives	Quantity	Same type of Shar	es Total
Common Shares	0	0.00	0000.0000
Non-Voting Shares	0	0.00	0000.0000
Closing Ba	alance		
		% of participa	ation
Type of Securities/Derivatives	Quantity	Same type of Shar	es Total
Common Shares	0	0.00	0000.0000
Non-Voting Shares	0	0.00	0000.0000

In February 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

	Banco Boavista	CPF/CNPJ:
Name:	Interatlântico S.A	33.485.541/0001-06
Qualification: Controlled / Related Company		
Openning	Balance	
		% of participation
Type of Securities/Derivatives	Quantity S	Same type of Shares Total
Common Shares	9,563	0.00030.0001
Non-Voting Shares	9,177	0.00030.0001
Closing I	Balance	
		% of participation
Type of Securities/Derivatives	Quantity S	Same type of Shares Total
Common Shares	9,563	0.00030.0001
Non-Voting Shares	9,177	0.00030.0001

In February 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

	Banco	CPF/CNPJ:
Name:	Bradescard S.A	04.184.779/0001-01
Qualification: Controlled / Related Company		
Openning	Balance	
		% of participation
Type of Securities/Derivatives	Quantity	Same type of Shares Total
Common Shares	0	0.0000.0000
Non-Voting Shares	0	0.0000.0000
Closing E	Balance	
		% of participation
Type of Securities/Derivatives	Quantity g	Same type of Shares Total
Common Shares	0	0.0000.0000
Non-Voting Shares	0	0.0000.0000

In February 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

# Company: Banco Bradesco S.A. Banco Bradesco BBI Name: S.A Qualification: Controlled / Related Company Openning Balance

Type of Securities/Derivatives	Quantity Same ty	pe of Shares Total
Common Shares Non-Voting Shares	0 0	0.00000.0000 0.00000.0000
Closing Balance	%	of participation
Type of Securities/Derivatives	Quantity Same ty	vpe of Shares Total
Common Shares Non-Voting Shares	0 0	0.00000.0000 0.00000.0000

CPF/CNPJ:

06.271.464/0001-19

% of participation

In February 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

	Banco		
	Bradesco	CPF/CNPJ:	
Name:	BERJ S.A	33.147.315/0001-	15
Qualification: Controlled / Related Company			
Openning	Balance		
		% of participation	on
Type of Securities/Derivatives	Quantit	<sup>y</sup> Same type of Shares	s Total
Common Shares		0 0.000	0000.00
Non-Voting Shares		0 0.000	0000.00
Closing B	alance		
		% of participation	on
Type of Securities/Derivatives	Quantit	<sup>y</sup> Same type of Shares	s Total
Common Shares		0 0.000	0000.000
Non-Voting Shares		0 0.000	0000.00

Company: Banco Bradesco S.A.		
Name:	Banco Bradesco Cartões S.A	CPF/CNPJ: 59.438.325/0001-01
Qualification: Controlled / Related Company		
Openning	Balance	
		% of participation
Type of Securities/Derivatives	Quantity	Same type of Shares Total
Common Shares	0	0.0000.0000
Non-Voting Shares	0	0.0000.0000
Closing B	alance	
		% of participation
Type of Securities/Derivatives	Quantity	Same type of Shares Total
Common Shares	0	0.0000.0000
Non-Voting Shares	0	0.0000.0000

Banco Bradesco	CPF/CNPJ:
Financiamentos S.A	07.207.996/0001-50
a Delenee	
ig Balance	
	% of participation
Quantity _	
2.5	ame type of Shares Total
0	0.0000.0000
-	0.0000.0000
Balance	
	% of participation
Quantity o	
- 5	ame type of Shares Total
0	0.00000.0000
0	0.00000.0000
	Financiamentos S.A <b>g Balance</b> Quantity S 0 0 0 0 0 0